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1/RER 82 94 176 49 201 | &7 ERED 356 383 739 275 36 |BHABEN 533 527 1,060 302
(0] 1) | ( 1) (—TH) 3) NniC 4 STH) 0) | ( 1) | ( 1)
pALUN = 350 383 733 2717 202| &7 R D 664 697 1,361 534 321 | HEE— 0 0 0 0
(0] 1) | ( 1) (ZTH) 1) NniC 2 (—T H1~4%Hh) 0/ olC o0
3| HTH 74 92 166 53 203 |& /7 AR 583 600 1,183 444 322| X HE— 62 58 120 38
(O ool 0 (ZTH) 0) 1) | ( 1) (ZT B4 0/ olC o0
40T 362 422 784 326 204 | & /7 FAbER 518 543 1,061 381 323 | HE— 680 638 1,318 382
(O ool 0 (MTH) 1) 2 C 3 (=T B4 0) | ( 1) | ( 1)
5— /B4 72 65 137 34 211 |k 431 448 879 334 324 | HEE 350 361 711 242
(O ool 0 (—TH) 0) 1) | ( 1) (U T H1~17FH) 0/ olC o0
6| —/F4 93 90 183 50 212 |kt 205 256 461 166 325|E HEE 681 704 1,385 401
(0]« 1) | ( 1) (ZTH) 0) 0 C 0 (BT B4 NI 3y 4
7= B4 173 159 332 107 213 |kt 288 272 560 189 326 | HE— 320 355 675 189
(O ool 0 (=TH) 0) 0 C 0 (ST H1~17%H) 0/ 2/ 2
8|EFH 170 164 334 103 214 |k 352 377 729 280 327 | HEE = 775 804 1,579 451
(0] 1) | ( 1) (MTH) 0) 1) | ( 1) (T B4 0/ C oolC 0
9| gt H 55 46 101 28 221 | BT OY—TH 577 600 1,177 401 328 |k HEE = 223 221 444 140
(0]« 1) | ( 1) 0) 0, C 0 O\T H48) 1) | ( NniC 2
105 72 69 141 40 222 | BHITOY T H 701 730 1,431 488 329|pk M = 2 7 9 5
(O ool 0 1) 51 C 6) LT B4 0/ ol o0
11| K& 47 52 99 22 223|BHITDOY =T H 852 851 1,703 584 331 | HEE — 0 0 0 0
( 0) | ( 0) | ( 0) 0) 0) | ( 0) (—T H5~8%H) 0) | ( 0) | ( 0)
12|45 5% 107 95 202 51 231|HEE—TH 618 664 1,282 411 334 | HEE = 299 297 596 203
(0] 1) | ( 1) 0) 0, C 0 (U T H 18~28% 1) 4 ( 5[ 9
13 K& 51 54 105 25 232|lHEE-TH 799 846 1,645 550 336 | HEE — 430 451 881 250
(O ool 0 1) 2 C 3 (ST H18~35%H1) 0/ olC o0
14 A FH 82 87 169 42 233|HER=TH 382 392 774 252 401| ERAA—TH 364 374 738 236
(O ool 0 1) NniC 2 2. 0l 2
15/8A 112 92 204 54 241 | BTG — 347 353 700 228 402 ERAARTTH 0 0 0 0
(O ool 0 1) 2 C 3 0/ olC o0
16| P& 1% H 115 122 237 61 242 |1 T54E — 3 5 8 4 410 KiBK 622 625 1,247 361
(0] 1) | ( 1) 0) 0, C 0 5) | ( 10) | ( 15)
20 [JE K fh 238 215 453 162 301 | MG HH— 434 454 888 331 412 KiGKIR 247 243 490 151
( 0) | ( 0) | ( 0) (—TH) 2) 0) | ( 2) 0) | ( 0) | ( 0)
101 | K74 348 374 722 246 302 RIAEEH— 422 463 885 350
(—TH) ( NI 3 4 (ZTH) 1) 2 C 3
102 | K74 271 271 542 203 303 HGH = 572 625 1,197 431
(ZTH) (Ol ool 0 0) NnicC 1
111 O&hE—TH 846 856 1,702 579 304 RAGE Y =— A 170 181 351 158
C 8] C 8¢ 12) 1) 4) (5
M2/ 0&0WETH 448 426 874 325 M |\BFHABEE— 449 500 949 318
(O ool 0 (—TH) 0) 1) | ( 1)
12117 —> bl 280 247 527 157 312\BHABE 467 518 985 303
(O ool 0 (ZTH) 0) 0 C 0
140/ L HDR 160 133 293 110 NI FAEE= 630 646 1,276 375
(—TH) ( NI 0 ( 1) (ZTH) 1) NniC 2
141 | HOR 51 60 111 42 M4 BHABRE= 192 202 394 135
(—TH) (Ol ool 0 (MTH) 6) 3y C 9
142\ L H0R 352 363 715 258 5 HAREL 990 918 1,908 601
(ZTH) (. 2/C 51 D (WTH,LTH) 1) 0) | ( 1)
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